KEREHR

B kA« RIRGHT F LK

BKGHT + e

= = () F<JE;E‘2FE%§L$%
3 o M4 o M5
B#ERA EB®ME g 1 58 65 7R 8H 9A 108 | 114 | 128 i 2R 3R

L] — s 1001E/mILL T 0 0 1 0 0 1 0 0 0 0 0 2
2| KIBE RSV AR AR AR AR AR TR AR TheH| S| S kR EN
3IIRIT LK OFDILED) 0.003mg/1ILL F <0.0002

4K OEDILEW 0.0005mg/1LL <0.00005

5| BELV R OEDILEY 0.01mg/1LA T <0.001

6|80 M O DILEW 0.01mg/ILL <0.001

TeZ R TZDILED 0.01mg/ILF <0.001

PRIV 0.02mg/1LL T <0.001

9| HiAHFEREE R 0.04mg/1LL F <0.004

0T AHAF > L Ot T 0.0lmg/ILLF <0.001 <0.001 <0.001 <0.001

NG EEE AN A S € 10mg/1LA T 0.46

12|79y EPZEDOLED 0.8mg/ILLF <0.05
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IR ES 0.002mg/1LL F <0.0001
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36| TN AR OZ DAY 200mg/1LA 3.0
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38| AL 14 200mg/ICL 0.7 0.7 0.7 0.7 0.8 0.6 0.7 0.8 0.8 0.7 0.7 0.7
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44| FEA A T TEPEA 0.02mg/1LL <0.005
45|17 = )— )V 0.005mg/ILL R <0.0005
16 | B S (IR D ) 3mg/1LLF <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
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